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1. I\Hﬁ$.@7\7ﬂjjl\$
[FEA | FIE® [FEHETE® |
H25.4 48.5 73.1
5 46.8 71.9
6 47.0 72.2
7 47.4 72.1
8 45.7 71.9
9 50.4 78.5
10 49.0 72.8
11 48.3 74.4
12 47.4 78.2
H26.1 48.0 74.4
2
3
FE 178 73.8

2. LRI o 324

VAR5 MU IR SRR e S s i

(1) FEE
JESAREL P AR B BB 0n) | SE~ APREC P ARE B (%)
H25.4 87 2.90 58.0 25 0.83 16.7
5 61 1.97 39.4 21 0.68 13.5
6 8 0.27 5.3 0 0.00 0.0
7 15 0.48 9.7 0 0.00 0.0
8 79 2.55 51.0 0 0.00 0.0
9 72 2.40 48.0 0 0.00 0.0
10 62 2.00 40.0 0 0.00 0.0
11 60 2.00 40.0 0 0.00 0.0
12 62 2.00 40.0 0 0.00 0.0
H26.1 44 1.42 28.4 0 0.00 0.0
2
3
25 55.0 1.70 35.9 4.6 0.15 3.0
(2) PEftheas - X E4E - G
. 177 0 0 0 0
5 200 0 1 0 0
6 258 0 0 1 1
7 264 0 0 0 0
8 210 0 0 0 0
9 217 0 0 0 0
10 264 0 1 0 0
11 244 0 0 0 0
12 172 0 0 0 0
H26.1 237 0 0 0 0
2 0 0 1 0
3
5 2,243 0 2 2 1
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3. RAEEDER

A=

TA| BRBEER rgEmrr RAREIULEE

H25.4 1,442 444 998

5 1,653 400 1,253

6 1,452 404 1,048

7 1,646 485 1,161

8 1,712 478 1,234

9 1,625 485 1,140

10 1,511 443 1,068

11 1,353 388 965

12 1,635 458 1,177

H26.1 1,888 483 1,405

2
3
Gt 15,917 4,468 11,449
4. WHEZED FEiE

No. R S e T—= BEN | BEgk |2 oot
1[H25.4.9 JEBIRR SIS el [mg2pie = 1 7 0
2|H25.5.14  VEGIREIS [B#BE  [mg2lmie = 1 8 0
3|H25.5.16  JEfIFRGTS [FLIRSVEE  [FLIRA 771X 9 2 0
4[H25.7.9 JEGIR TS [ RRAEL (BB 2Emie s 1 8 0
5|H25.7.18  [WHER Bk DA FBIRR T 18] 15 0
6[H25.7.25 |WfES FURAMVE  [FLIRR 2 E S 6] 13 0
7|H25.8.24  [WHES Gk R T35 D JL e 8 6 0
8|H25.9.10  VEGI IS e [mg2lmie = 1 8 0
9|H25.9.19 u%ﬁé% EHik)q W e bR 26] 17 0
10[H25.9.21  |#WHES ik X U7 BARIHE Y B 18 4 0
11|H25.10.8 %ﬂﬂa#/\ e I R R 1 9 0
12[H25.11.12  [ERIFKETS ﬁﬁz%y%ﬂ g2z s 1 7 0
13[H25.11.14  [WFfES Gt DA FBIRR TS 15/ 13 0
14|H25.11.16 |#EH= HUKERE [N AR SRR 5] 18] 60
15[H25.12.10 [EGTRR RIS [EHRE @1%%&@%%4; 1 6 0
16[H26.1.14  PEBR TS B g2 lmie = 1 4 0
17|H26.2.4 JEGIRR TS el [mg2mie = 1 7 0
114] 152] 60
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5. ok RLEKEE T D AR 6. AR (s = JoE 5 =) oD 5%
ESIER A

H25.4 5 819

5 3 5 925

6 1 6 999

7 2 7 1,163

8 7 8 1,047

9 3 9 1,011

10 5 10 926

11 5 11 1,136

12 5 12 1,037
H26.1 0 H26.1
2 2
3 3

Fa=n 36 aar 9,063

7. M IR 3 % 7 B 2 D Bt AR

EEI R PR IRIEICS)
p2lE [PEE25E9 H 12H OR)
E3l] K255 120 120 (OF)
41

Ny Ny

Rl

3/3R—=Y



